
Suggested solutions to DHW textbook exercises

Exercise 4.8

By noting that A
x: 20

= A 1
x: 20

+ A 1
x: 20

and that Ax = A 1
x: 20

+ A 1
x: 20

Ax+20, then we have

A 1
x: 20

=
A

x: 20
− Ax

1 − Ax+20

=
0.55 − 0.25

1 − 0.40
=

0.3

0.6
= 0.50.

(a) Based on claims acceleration, we have

10000 Ā
x: 20

= 10000
[
(1 + i)1/2A 1

x: 20
+ A 1

x: 20

]
= 10000[1.031/2(0.05)+0.50] = 5, 507.445.

(b) Based on UDD, we have

10000 Ā
x: 20

= 10000

[
i

δ
A 1

x: 20
+ A 1

x: 20

]
= 10000

[
0.03

log(1.03)
(0.05) + 0.50

]
= 5, 507.463.
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